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Sinangs) alamisg eflurs ufard o drergr erenuganat sflunissls
Qamererayis. sFs LS D geopudpuidlar, smps semsramUuramiLD
o Leangwngd CgilallEsain.

Boon @idag smuy eollma Wl (GCo STwHasHGD
35081 Daghsb LwaubEs Coam@n. ULRsET amraIn®
Guerfled LanURSTeaYD.

[1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
LH$l - 1/ PART - I
Sienenss) elletndsensigh oo wallina b, 20x1=20

QarfésulBare wrom elalsafla Wsapd ghysLb slaawug

CaipOsB g6 @hluit Hrer allamuCamann Caigs mipsa).

Answer all the questions.

Choose the mosl appropriate answer from the given four alternatives and

write the option code and the corresponding answer,
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o " y - % " ' ' T

L @nfwrela @ G0 comIndaUnT L e ()
(«) 1047 (o) 1950
(@) 1948 () 1051

Planning Commission was sel up in the year :
(a) 1047 {(b) 1950

(c) 1948 (d) 1951

2. sngswrer arails @wdld gomwod @nsswdawel

(=) 8LLgs0 L swwns (<) aflswors
() swwrs () Geopauns

Favourable trade means value of exports are

24,6 QmEEL.

than that of Imports.

(a) more or less equal () more
(c} equal (d) less

3. Uswrar uemeigsn eranmb SepsslupEnsgy.
(21) saupd vemei&sin (<) BLE@D UdTeissD
(8) sy Lewmel&Esbd (7) @B uameissid

Mild Inflation is also known as ;

(a) Creeping Inflation (b} Walking Inflation

(¢c) Galloping Inflation (d) Running [nflation

4, o9 gD SHEMDbGTAT LD :

(<=1) @penu (2) gdal
(@) Clukisemm () Clasmenar
The RBI Headquarters is located at :

{a) Mumbai (b) Delhi

() Bengaluru (d) Chennai
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Gog.erb. danadlen umsalliiens @fLAEs.

(=) cpagemd (e3g,) pr(pa@aflen Glgaeuib

(@) Curg F8 () Qurgid Gamlun
Indicate the contribution of J M. Keynes to Eccnomics :
(&) Capital (b) Wealth of Nations
{c) Public Financc (d) General Theory

spnafl maia) BT L saradLUubaug

(@) y/iCc (<) C/Y
(@) ¢y (%) CxY

The Avcrage Propensity to consume is measured by :
(a) Y/C ORA

[c] C+Y d] CxY

GramLmbflene efleuFrisEnEETal <4 HTILD

() Qeueldiul L eflany i ger

{2) QuuefifJuLrg efleurmisa

(@) Copdsrane Erer(h G

() (21) obobd (<)

Sources of Secondary data are

{a) Published sources

b] Unpublished snurces

[c] Neither published nar unpublished sources
{d) Bath (a) and (b)
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B. JB Gsgm_
(<) peler Qurmafuerart
(&) uPw-Cgrareno Qurmailwearert
(@) udw QurEeiuerant
() Glsmemeny Quirmehuamren
.B. Say is a
}  Modern Economist
(b) Neo Classical Economist
(c) New Economist

(d) Classical Economist

9. awflowop  doaayseais gan.
(=) Hla s (<)) &MY WM&
(@) o bra () B s
Acid rain is one of the consequences of _
(a) Land pollution (b) Air pollution
{(c) Noise pollution " (d) Water pollution

10. MEC eramm amasimhaney 2flapstu@sslue ;

(=) AerrGLm (=) 2L 1b sl
(@) wrdgew (/) JM. Eensd
The term MEC was introduced by :

{a) Ricardo _ (b} Adam Smith
(c) Malthus (d) J.M. Keynes

11. g cuanflla ekl Glalwyn Ceme
(31) apauiLiBenar er DO Qzreteug () sLén GULDIEI & 6u
(@) (=t) whmd () (F) Guptlerden ageyd Gdama
A Commercial Bank is an Institution that provides services -
(a) Accepting deposits (b) Providing loans
(c} Bath (a) and (b} (d) None of the above
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12; GDP gespLunmer =

weaniod Oy NDP uewwiy GNP
(.-91]—-‘&.'—~i—~ % 100 (<2p) Aoy % 100
o amew NDP o ameny GNP
uermnd iy NNP vemmodliiy GDP
(@) Bt i) x 100 (F) ———————— x 100
o gareniy NNP o awenin GDP
GDP deflator =
Nominal NDP Nominal GNP
(a) * 100 () ——— x100
Real NDP Real GNP
Nominal NNP Nominal GDP
0 Y, . (d) ————— x100
Real NNP Real GDP
13. _ a9 Crflw aumeuT@l QGEETSD sards eumorand s dluiam.
(1) Glsaay (<) 2 Huss
(@) GNP (F) priwgen wésar Asrens

Per capita Income is obtained by dividing the National Income by :
(a) Expenditurc (b) Production

(c) GNP (d) Population of a country

@ [ #puus / Turn aver
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14,

15.

16.

17.

Gawller amang cDufér o1 (HCamr

(<) GEL S0 LGHsa, («ap) appGeiana hlena hlawa b

(@) Aep@eom Gunt’ 1q. (ir) @em Geuamanflarenin

Say's law of Market assumes :
(a)  Short-run analysis (b)  Full employment

(€)  Imperfect competition (d) Under employment

Qran@ BrisEssdlon_@arar airanflaib eremug _ .
(=) odr euranfisid (<) eemprl( euranflam
(@) Qauefl aunellaw (FF) eremeuwyd @ebana

Trade between two countries is known as

(a) Internal trade (b) Home trade

(c] Esxternal trade (d) Nonc of the above

U Cuobur’{ eurkid ey ar QgL Iwg].
() ETid (=) A &an

(&) <pdflwren (/) 1SleTy. 1g..6p.

New Development Bank is associated with :

(a) SAARC (b) BRICS

(c) ASEAN (d) WTO

Gurmetlwd urgdlan Henaraer eramima :
(=1) Caenau wipmb <yaflliy

(<) Cargg wHMD Hed

(@) mewmenfws wHmn Guflwe

(rF) e pusdl whmbd msiey

The branches of the subject Economics is :
{a) Demand and Supply

(b} Wealth and Welfare

(c) Micro and Macro

(d) Production and Consumption
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18. @pdw rdler autiflurs Qaudu@ag)
(1) ICICI (<) @Bl Liniud oyt @hgwur
(@) @ndlwer ety suriud) (/) puTi
Who will act as the banker to the Government of India ?

(c) RBI (d) NABARD

19. peliar s erauufous :

(1) peotd GUEDID ST
(@) sreua s

The Modern State is :
(a) Welfare state

(c) Police state

(=) sanauflr Syrs

(F) Guédwl g o dereufsaian siys

(b) Laissez-faire state

(d) Aristocratic state

20. B4 Cursdler geanaaul :
(1) Hevems Glwrsd seaelt (=) Grswoi

(@) Bld Sienwsar

The Chairperson of NITI Aayogis .

(FF) @qLrss Senealr

(a) Vice-president (b) Prime Minister
(c) Finance Minister (d) President

E [ Agplis [ Turn over
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ug$l - I / PART - 1I

@idy : gCsemn g dlamdmense el watlhmna . auphié alem aram 30- &G
3 Tx2=14
sLLmuwnes 6ilai wall&seayb.

Note : Answer any 7 questions. Questinn No. 30 is compulsory.
21. CGuflwd @Llrr@rs]ﬂu_uﬂ(,in Bodsand Hm6.

Define Macro Economics.

22. GNP sansdIQw @adigoms eaupso.
Write the formula for calculating GNP,

23. oups Ceuenaulaneninuden (p&Ew @we) wrg ?
What is the main feature of rural unemployment ?

24. "msMey LD sTenmmed eTemean ?
What do you mean by propensity to consume ?

25. aenlls ukdladt eranugamen cumrumbse.
Define Commercial Bank.

26. <pflu Qearaeamf (FOREX) eratugern Qummer eremar ?
What do vou mean by FOREX ?

27, “GEurg sumeuml” erenmred arencn 7

What is public revenue ?

28. 206 DElUWLDOTSD ETETUSMEN QUEn I TIESE|LD.
Define Global Warming.

29. yeraflufid: erempirey erenen ?

What is statistics ?

30. o drermi§l ennllGen euansgeT Wranal 7
What are the types of Local bodies ?
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u@d - I / PART - III

@fioy : oGagyi T elemnaserde eflaLalssa, oaphd ear aar 40-8@
SLLTwons eflenLweflsmayb., 7x3=21

Note :  Answer any 7 questions. Question No. 40 is compulsory.

1. QunmeTTsm siewliseflar anssamer GNCICER
Describe the different ty

pes of economic systems.
32. smeds aurlerand L 20 i @HloyY Tuwes.

Write a short note on per capita income.

33. &psramuan®D SMmES0TE ellaifdsey.
(=) umeusrer Geuenaulenanin
(=) e Laume e (Frictional) Gaumaudsitentn
(@) urszauT Coumardérano
Explain the following in short :
{a) Seasonal unemployment
[b) Frictional unemployment

(c} Educated unemployment

34. yeareflblweller uanflseT wrene 7

What are the functions of statistics ?

35. uarr sefllenar Siwral &@ih smralsst wraa ?

What are the determinants of money supply ?

36. @idu Qsrfd fHs epssder uamismens GHUGHS.
Specify the functions of IFCL

[ Hapliys / Turn over
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= .
37. mever rdler Lenllser wirenay 7

What are the functions of Modern State ?

38. @l suenrs
(<) ugseuflenad WmhHmD
(=) =oflev wanip
Write a note on :
(a) Climate change
(b} Acid rain
39, ameewulen pis &pns Srrer ITp@TTIEGGT sl LILESILET Opeflat GG
Elucidate major cause of vicious circle of poverty with diagl’ﬁ_IIL
40. Wumaddler aumssar GALNGRE. SaH LILeTs FEHEID G resnig @t eTiggis.

Mention the kinds of Multiplier. Give any two uses of multiplicr.

uEd - IV / PART - IV
GBI : Hemesg) aleiideaEnigh elewaflésab. Tx5=35
Note : Answer all the guesticns, '
41. (=) B sep spd gre vrdildlaer sieTul Zajen sHlens s
ENENE
(<) euadlss aphAulldr udGan slLrsoen ala. flasan b,
{a) Explain the two scctor circular flow model with diagram.
' OR

{h) Describe the phases of tradc cycle.

4z, (o) phsd GurEhd sssilaer el quf d:ma Lo,
TNV
() LDGaupy usnmnar S IEILD aumasemaT efleufl dae b,

(a) Explain the operation of the Accelerator.
OR

(b) ‘Deseribe different types of planning.
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43. () priligan Eurmerrgng Gowun’igd aafls auridlsafler uniflenan eflardgs.

TNV

() Qeneu(mtd eflaurmisEndo S clwsssdme srams.

(a)

(b)

14, 22, 9, 15, 20, 17, 12, 11

Explain the role of Commercial Banks in economic development.
OR

Find the Standard Deviation of the following data :

14, 22, 9, 15, 20, 17, 12, 11

44, (=) Quamertgry apenGardon WwhHmb Qeuefipm’ @ Cpmy sy HED [EIRE

o aren GarLmiamen ciersEs.

SN

(=) @ILY Tpss.

(i) e&nmré

(i) Lf&s

(a) Explain the relationship between Foreign Direct Investment and economic

(b)

development.
OR
Write a note on :
(i) SAARC
(ij BRICS

45. (=) aufl ey eflsaer efleufssay.

JEXVEVE]

(<) Bir orasETeT SNFaNEGET WTMal ?

(a)

(b)

Describe Canons of Taxation,
OR

What are causes of Water Pollution ?

[ Slpliys [ Turn over
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46,

47.

(=) wenm sep Gunmerrgnygfen sugmeumufean el L @lLgens QuenTULEEIL &
o and @,
SIEV6VF)
(<2b) poerelidgand, swodseb, slusgad Geunflen sarewsamst @UIHS.
(a) Explain the 3 sector circular flow mode! with diagram.
OR

(b) Compare the feature among Capitalism, Socialism and Mixedism.

(1) @psw feiew euridlulien (RBI) vexflsever allandgs.

S|e060g)
() vamsglen s whmb Grdrirb Hae umilsaear elaréss.
(a) Describe the functions of Reserve Bank of India.

OR

(b) Explain primary and secondary functions of Money.,

-o0o-



